TRIGONOMETRIC IDENTITIES AND PROOFS
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TRIGONOMETRIC IDENTITIES AND PROOFS
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5 Simplify:
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6 Simplify:
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9 Find the exact value of sec @if tan 8= 0.6 and 8 s not in the first quadrant.

b O >0 bk & K NOT RLIW/@@(FM@(
. RBe T c1wwli.e. b sne aml  Coome aau't'\mao-«ﬁ‘ue-

% c y =62+ 10% = 156 = (\/I%—Y:(\/Z.sx [+ Y:_(Z\BZ)Z

—

10
oo = _1 = _I =l =3
| s B _ 1o o 5
234 V24
10 If sin @=x, express 1"“3529 in terms of x.
sec
[0  sn?0 _ 22 | —x"x &b
e & ’ BERS
G
.
- PR (\ — /W 6)
2 2
_ X (l - X )

Section 3 - Page 5 of 10
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11 Ifasin’ @+ bcos’ 6= c, express sin @and cos@in terms of @, band c.
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14 Simplify:
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Prove the following identities.
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Prove the following identities.

1+ sinf
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Prove the following identities.
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